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MATH 20C, SECTION A07                                                     October  14, 2014 

                                        

                                               Quiz1 

1. (10 points) Find a vector parametrization r(t) for the line through  P  = (1, -1, 0) and              

Q = (1, 0, 2). 

 

Solution 

Let 𝑂𝑃⃗⃗⃗⃗  ⃗ and 𝑂𝑄⃗⃗⃗⃗⃗⃗  be the position vectors corresponding to the points P & Q respectively. 

                                                 𝑟 (𝑡) = 𝑂𝑃⃗⃗⃗⃗  ⃗ + 𝑡𝑃𝑄⃗⃗⃗⃗  ⃗;        −∞ < 𝑡 < ∞        

                                                          = 𝑂𝑃⃗⃗⃗⃗  ⃗ + 𝑡(𝑂𝑄⃗⃗⃗⃗⃗⃗ − 𝑂𝑃⃗⃗⃗⃗  ⃗) 

                                                          = (1 − 𝑡)𝑂𝑃⃗⃗⃗⃗  ⃗ + 𝑡𝑂𝑄⃗⃗⃗⃗⃗⃗     

                                                          = (1 − 𝑡) < 1,−1,0 > + 𝑡 < 1,0,2 > 

                                                          = < 1,−1 + 𝑡, 2𝑡 >  

 


